<?xml version="1.0" encoding="UTF-8"?>
<xs:schema xmlns:xs="http://www.w3.0rg/2001/XMLSchema"
elementFormDefault="qualified" attributeFormDefault="unqualified">
<xs:element name="flsbInformazioniRicovero">
<xs:complexType>
<XSs:sequence>
<xs:element name="bInformazioniRicovero"
minOccurs="1" maxOccurs="unbounded">
<xs:complexType>
<XSs:sequence>
<Xs:element
name="trasmissione">
<xs:complexType>
<XS:sequence>
<xs:element name="tipo">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<Xs:enumeration value="I"/>
<Xs:enumeration value="C"/>
<Xs:enumeration value="V"/>
<Xs:enumeration value="1i"/>
<Xs:enumeration value="c"/>
<Xs:enumeration value="v"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
<Xs:element
name="informazioniRicovero">
<xs:complexType>

<Xs:sequence>

<xs:element name="regimeRicovero">



<xs:simpleType>

<xs:restriction base="xs:string">

<xs:length value="1"/>

<Xs:enumeration value="9"/>

</xs:restriction>

</xs:simpleType>

</xs:element>

<xs:element name="dataPrenotazione" type="xs:date" minOccurs="0">

<Xs:annotation>

<Xs:documentation>

Valore di esempio: 2016-02-01

</xs:documentation>

</xs:annotation>

</xs:element>

<Xs:element name="classePriorita"

<xs:simpleType>

<xs:restriction base="xs:string">

<xs:length value="1"/>

<XSs:

<XSs:

<Xs

<XSs:

<XSs:

<Xs

<XSs:

<Xs

enumeration

enumeration

:enumeration

enumeration

enumeration

:enumeration

enumeration

:enumeration

</xs:restriction>

value="A"/>
value="B"/>
value="C"/>
value="D"/>
value="a"/>
value="b"/>
value="c"/>

value="d"/>

minOccurs="0">



</xs:simpleType>
</xs:element>
<xs:element name="dataRicovero" type="xs:date">
<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-17
</xs:documentation>
</Xs:annotation>
</xs:element>
<xs:element name="oraRicovero" minOccurs="0">
<xs:annotation>
<xs:documentation>
Valore di esempio: 21:46
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="5"/>
<xs:pattern value="(0[0-9]|1[0-9]|2[@-3]):[0-5][0-9]"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="unitaOperativaAmmissione">
<xs:annotation>
<xs:documentation>
Valore di esempio: 160907010201

</xs:documentation>



</xs:annotation>

<xs:simpleType>

<xs:restriction base="xs:string">

<xs:length value="12"/>

</xs:restriction>

</xs:simpleType>

</xs:element>

<xs:element name="onereDegenza">

<xs:simpleType>

<xs:restriction base="xs:string">

<Xs

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<Xs

:length value="1"/>

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

:enumeration

</xs:restriction>

</xs:simpleType>

</xs:element>

value="1"/>
value="2"/>
value="4"/>
value="5"/>
value="6"/>
value="7"/>
value="8"/>
value="9"/>
value="a"/>

value="A"/>

<xs:element name="provenienzaPaziente">

<xs:simpleType>

<xs:restriction base="xs:string">



<xs:length value="2"/>

<xs:enumeration value="01"/>
<xs:enumeration value="02"/>
<xs:enumeration value="03"/>
<xs:enumeration value="04"/>
<xs:enumeration value="05"/>
<xs:enumeration value="06"/>
<xs:enumeration value="07"/>
<xs:enumeration value="08"/>
<xs:enumeration value="09"/>
<xs:enumeration value="10"/>
<xs:enumeration value="11"/>
<xs:enumeration value="12"/>
<xs:enumeration value="99"/>

</xs:restriction>

</xs:simpleType>
</xs:element>
<xs:element name="tipoRicovero" minOccurs="0">

<xs:simpleType>

<xs:restriction base="xs:string">

<xs:length value="1"/>

<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
<xs:enumeration value="4"/>
<xs:enumeration value="5"/>

</xs:restriction>



</xs:simpleType>

</xs:element>

<xs:element name="traumatismiIntossicazioni™ minOccurs="0">

<xs:simpleType>

<xs:restriction base="xs:string">

<Xs

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

</xs:restriction>

</xs:simpleType>

</xs:element>

<Xs:element name="codiceCausaEsterna"

<Xs:annotation>

<Xs:documentation>

Valori di esempio: E853, E9538

</xs:documentation>

</xs:annotation>

<xs:simpleType>

:length value="1"/>

value="1"/>
value="2"/>
value="3"/>
value="4"/>
value="5"/>

value="9"/>

<xs:restriction base="xs:string">

<xs:minLength value="4"/>

<xs:maxLength value="5"/>

<xs:pattern value="[E]{1}[8-9]{1}[©-9]{2}[©@-9]{0,1}"/>

</xs:restriction>

minOccurs="0">



</xs:simpleType>
</xs:element>
<xs:element name="Trasferimenti" minOccurs="0" maxOccurs="15">
<xs:complexType>
<Xs:sequence>
<xs:element name="dataTrasferimento" type="xs:date">
<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-18
</xs:documentation>
</Xs:annotation>
</xs:element>
<xs:element name="oraTrasferimento">
<xs:annotation>
<xs:documentation>
Valore di esempio: 15:15
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="5"/>

<xs:pattern
value="(0[0©-9]|1[@-9]|2[0-3]):[0-5][0-9]"/>

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="unitaTrasferimento">

<Xs:annotation>



<xs:documentation>
Valori di esempio: 160907010652, 160907010438
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="12"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
<xs:attribute name="numTrasferimento"” use="required">
<xs:annotation>
<xs:documentation>
Valore di esempio: 01
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="2"/>
</xs:restriction>
</xs:simpleType>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="dimissione">

<xs:complexType>



<Xs:sequence>
<xs:element name="unitaOperativaDimissione">
<xs:annotation>
<xs:documentation>
Valore di esempio: 160907010201
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="12"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="dataDimissioneMorte">
<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-25
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:date"/>
</xs:simpleType>
</xs:element>
<xs:element name="oraDimissioneMorte" minOccurs="0">
<xs:annotation>
<xs:documentation>

Valore di esempio: 16:25



</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="5"/>

<Xs:pattern
value="(0[0-9]|1[@-9]|2[@-3]):[0-5][0-9]"/>

</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="modalitaDimissione">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="2"/>
<xs:enumeration value="01"/>
<xs:enumeration value="02"/>
<xs:enumeration value="03"/>
<xs:enumeration value="04"/>
<xs:enumeration value="05"/>
<xs:enumeration value="06"/>
<xs:enumeration value="07"/>
<xs:enumeration value="08"/>
<xs:enumeration value="09"/>
</xs:restriction>
</xs:simpleType>
</xs:element>

<xs:element name="FlagICicloCura"™ minOccurs="0">



<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="riscontroAutoptico” minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="motivoRicoveroRegimeDiurno" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
<xs:enumeration value="4"/>

</xs:restriction>



</xs:simpleType>
</xs:element>
<xs:element name="numGiornateRicoveroDiurno" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:integer">
<xs:minInclusive value="1"/>
<xs:maxInclusive value="999"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="pesoNascita" minOccurs="0">
<xs:annotation>
<xs:documentation>
Valore di esempio: 1523
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:integer">
<xs:minInclusive value="100"/>
<xs:maxInclusive value="9999"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="AccessiInDH" minOccurs="0">
<xs:complexType>
<XS:sequence>

<xs:element name="dataAccesso" type="xs:date" maxOccurs="366">



</xs:seq
</xs:complexType
</xs:element>
<xs:element name
<xs:complexType>

<Xs:sequ

<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-18
</xs:documentation>
</Xs:annotation>
</xs:element>
uence>

>

="diagnosiPrincipale">

ence>
<xs:element name="diagnosiPrincipaleDimissione">
<xs:annotation>
<xs:documentation>
Valori di esempio: V181, 99883
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="3"/>
<xs:maxLength value="5"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="diagnosiPrincipaleDimissioneAlRicovero">

<xs:simpleType>



<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="Lateralita” minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="stadiazioneCondensata" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
<xs:enumeration value="4"/>
<xs:enumeration value="5"/>

<Xs:enumeration value="6"/>



<xs:enumeration value="7"/>
<xs:enumeration value="8"/>
<xs:enumeration value="9"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
<xs:element name="diagnosiSecondarie"” minOccurs="0" maxOccurs="5">
<xs:complexType>
<Xs:sequence>
<xs:element name="diagnosiSecondarieDimissione">
<xs:annotation>
<xs:documentation>
Valori di esempio: 8976, V25
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="3"/>
<xs:maxLength value="5"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="diagnosiSecondarieDimissioneAlRicovero">

<xs:simpleType>



<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="Lateralita” minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="stadiazioneCondensata" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
<xs:enumeration value="4"/>
<xs:enumeration value="5"/>

<Xs:enumeration value="6"/>



<xs:enumeration value="7"/>
<xs:enumeration value="8"/>
<xs:enumeration value="9"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
<xs:attribute name="numDiagnosiSecondaria" use="required">
<xs:annotation>
<xs:documentation>
Valore di esempio: 1
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
</xs:restriction>
</xs:simpleType>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="interventoPrincipale" minOccurs="0">
<xs:complexType>
<Xs:sequence>
<xs:element name="interventoPrincipale">
<xs:annotation>

<Xs:documentation>



Valori di esempio: 002, 5689
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="3"/>
<xs:maxLength value="4"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="interventoPrincipaleEsterno”>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="datalnterventoPrincipale" type="xs:date">
<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-21
</xs:documentation>
</Xs:annotation>
</xs:element>

<xs:element name="oralnterventoPrincipale"” minOccurs="0">



<xs:annotation>
<xs:documentation>
Valore di esempio: 15:06
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="5"/>

<xs:pattern
value="(0[0-9]|1[@-9]|2[0-3]):[0-5][0-9]"/>

</xs:restriction>
</xs:simpleType>
</xs:element>

<xs:element name="chirurgoInterventoPrincipale"” minOccurs="0"
maxOccurs="3">

<xs:annotation>
<xs:documentation>
Codice fiscale
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="16"/>
<xs:pattern value="[a-zA-Z]{6}[0-9 L M N

V]{2}[a-zA-Z]{1}[6-9 LM NP Q R S T U V]{2}[a-zA-Z]{1}[6-9 L M N P
143} [a-zA-Z]{1}" />

RST
STU

< C

</Xs:restriction>
</xs:simpleType>

</xs:element>



<xs:element name="anestesistalnterventoPrincipale"
minOccurs="0">

<Xs:annotation>
<xs:documentation>
Codice fiscale
</xs:documentation>
</xs:annotation>
<xXs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="16"/>
<xs:pattern value="[a-zA-Z]{6}[0-9 L M N

V]{2}[a-zA-Z]{1}[@-9 LM NP Q R S T U V]{2}[a-zA-Z]{1}[@-9 L M N P
1{3}[a-zA-Z]{1}" />

RST
STU

< C

</xs:restriction>
</xs:simpleType>
</xs:element>

<xs:element name="ckListSalaOperatorialnterventoPrincipale"
minOccurs="0">

<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
<xs:enumeration value="9"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="Lateralita"” minOccurs="0">

<xs:simpleType>



<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="flagRobot" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="UDI" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="0"/>
<xs:maxLength value="75"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
</xs:complexType>

</xs:element>



<xs:element name="interventiSecondari" minOccurs="0" maxOccurs="10">
<xs:complexType>
<Xs:sequence>
<xs:element name="interventiSecondari">
<xs:annotation>
<xs:documentation>
Valori di esempio: 534, 8967
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="3"/>
<xs:maxLength value="4"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="interventiSecondariEsterni">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="datalnterventoSecondario" type="xs:date">

<Xs:annotation>



<xs:documentation>
Valore di esempio: 2016-03-22
</xs:documentation>
</Xs:annotation>
</xs:element>
<xs:element name="oralInizioInterventoSecondario" minOccurs="0">
<xs:annotation>
<xs:documentation>
Valore di esempio: 18:29
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="5"/>

<xs:pattern

value="(0[0-9]|1[0-9]|2[08-3]):[0-5][0-9]"/>

maxOccurs="3">

</xs:restriction>
</xs:simpleType>
</xs:element>

<xs:element name="chirurgoInterventoSecondario"” minOccurs="0"

<xs:annotation>
<xs:documentation>
Codice fiscale
</xs:documentation>
</xs:annotation>
<xs:simpleType>

<xs:restriction base="xs:string">



RST
STU

< C

minOccurs="0">

c 4
< C

minOccurs="0">

<xs:length value="16"/>

<xs:pattern value="[a-zA-Z]{6}[0-9 L M N

</xs:restriction>
</xs:simpleType>
</xs:element>

<Xs:element name="anestesistaInterventoSecondario"

<xs:annotation>
<xs:documentation>
Codice fiscale
</xs:documentation>
</xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">

<xs:length value="16"/>

<xs:pattern value= "[a-zA-Z]{6}[©-9
V]{2}[a-zA-Z]{1}[6-9 L M NP Q R S T U V]{2}[a-zA-Z]{1}[0-9 L
1{3}[a-zA-Z]{1}" />

</xs:restriction>
</xs:simpleType>
</xs:element>

<xs:element name="ckListSalaOperatorialnterventoSecondario”

<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>

<Xs:enumeration value="1"/>

L
M

V]{2}[a-zA-Z]{1}[6-9 LM NP Q R S T U V]{2}[a-zA-Z]{1}[6-9 L M N P
1{3}[a-zA-Z]{1}" />

M
N



<xs:enumeration value="9"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="Lateralita" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
<xs:enumeration value="2"/>
<xs:enumeration value="3"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="flagRobot" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="1"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="UDI" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="0"/>

<xs:maxLength value="75"/>



</Xs:restriction>
</xs:simpleType>
</xs:element>
</Xs:sequence>
<xs:attribute name="numInterventoSecondario" use="required">
<xs:annotation>
<xs:documentation>
Valore di esempio: 01
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="2"/>
</Xs:restriction>
</xs:simpleType>
</xs:attribute>
</xs:complexType>
</xs:element>
<xs:element name="rilevazioneDolore">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</Xs:restriction>
</xs:simpleType>

</xs:element>



<xs:element name="pressioneArteriosaSistolica” minOccurs="0">
<xs:annotation>
<xs:documentation>
Valori di esempio: 85, 135
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:positivelInteger">
<xs:minInclusive value="30"/>
<xs:maxInclusive value="300"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="creatininaSerica" minOccurs="0">
<xs:annotation>
<xs:documentation>
Valori di esempio: 5.3, 55, 0.98
</xs:documentation>
</Xs:annotation>
<xs:simpleType>
<xs:restriction base="xs:decimal">
<xs:totalDigits value="4"/>
<xs:fractionDigits value="2"/>
<xs:minInclusive value="0"/>
<xs:maxInclusive value="99.99"/>
</Xs:restriction>

</xs:simpleType>



</xs:element>
<xs:element name="frazioneEiezione" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:nonNegativelnteger">
<xs:minInclusive value="0"/>
<xs:maxInclusive value="99"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="espianto"” minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="1"/>
<xs:enumeration value="0"/>
<xs:enumeration value="1"/>
</xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="etaGestazionale" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:length value="2"/>
<xs:enumeration value="22"/>
<xs:enumeration value="23"/>
<xs:enumeration value="24"/>
<xs:enumeration value="25"/>

<Xs:enumeration value="26"/>



<XSs

<XSs:

<XSs:

<XSs

<XSs:

<XSs:

<XSs

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

<XSs:

:enumeration

enumeration

enumeration

:enumeration

enumeration

enumeration

:enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

enumeration

</xs:restriction>

</xs:simpleType>

</xs:element>

value="27"/>

value="28"/>
value="29"/>
value="30"/>
value="31"/>
value="32"/>
value="33"/>
value="34"/>
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value="41"/>
value="42"/>
value="43"/>
value="44"/>

<xs:element name="DRG" minOccurs="0">

<xs:simpleType>

<xs:restriction base="xs:string">

<xs:minLength value="1"/>

<xs:maxLength value="3"/>

</xs:restriction>



</xs:simpleType>
</xs:element>
<xs:element name="tariffa">
<xs:simpleType>
<xs:restriction base="xs:decimal">
<xs:totalDigits value="8"/>
<xs:fractionDigits value="2"/>
<xs:minInclusive value="0.00"/>
<xs:maxInclusive value="999999.99"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="NumeroFattura" minOccurs="0">
<xs:simpleType>
<xs:restriction base="xs:string">
<xs:minLength value="1"/>
<xs:maxLength value="20"/>
</Xs:restriction>
</xs:simpleType>
</xs:element>
<xs:element name="dataFattura" type="xs:date" minOccurs="0">
<xs:annotation>
<xs:documentation>
Valore di esempio: 2016-03-16
</xs:documentation>
</Xs:annotation>

</xs:element>



</Xs:sequence>

<xs:attribute name="codiceIstitutoDiCura

<xs:annotation>

<xs:documentation>

di esempio: 16010100

</xs:documentation>

</Xs:annotation>

<xs:simpleType>

<xs:restriction base="xs:string">
<xs:length value="8"/>

</Xs:restriction>

</xs:simpleType>

</xs:attribute>

<xs:attribute name="progressivoSDO" use=

<xs:annotation>

<xs:documentation>

di esempio: 16008542

</xs:documentation>

</Xs:annotation>

<xs:simpleType>

<xs:restriction base="xs:string">
<xs:length value="8"/>

</Xs:restriction>

</xs:simpleType>

</xs:attribute>

</xs:complexType>

" use="required">

"required”>

</xs:element>
</Xs:sequence>
</xs:complexType>

Valore

Valore



<xs:key name="chiave">
<xs:selector
xpath="informazioniRicovero"/>

<xs:field
xpath="@codiceIstitutoDiCura"/>
<xs:field
xpath="@progressivoSb0"/>
</xs:key>

</Xs:element>
</Xs:sequence>
</xs:complexType>
</xs:element>
</Xs:schema>



